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Test 2 X - : &4 Name: Ew
Dzssty Wilson X o= AP 64 B P l,

Math 098 , . B ; Television is something the Russians invented
Wﬂ“&iﬁ‘) - ?’éb % : & 0{ % to destroy American education.
No work = no credit

Paul Erdés {1913 - 1996)
No Symbolic Calculators _ Hungarian mathematician

Warm-ups (1 pt each): g = u#&gé-ﬁ}-{ﬁ@,ég %E & 4= |

1.} (1 pt} According to Erdds {see above), what was the intent behind the invention of the TV?

Erds s ‘)DM ehok 16 oy dasund

w =25 W —~S5w
2.) (4 pts} Simpli .
) (4 pts} Simplify W —we20

2 e o gx,sé (e 57

@ +5) Lwﬁj

Result: nd {WW}

6x—42 _A ?_3x-28
© —16x X —4x"

é:»(.xfn ‘)’j&x -4

“/ixt-e»e) (s 4 Qe )

il X

3.) (4 pts) Simplify

ks et Result: T 4‘"” =
{ X+ %ﬁ(yaﬂtxw =
. . ~3x—4 (x-4)( _
4.) (4 pts) Write the simplified form of {x}= . Be sure to list all

x~+~9x+8 ;/in’)
L) = X1 f. x%«ggw

A+ B

restrictions on the domain.
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X -3x7 xz(x—3)

T 8x416 (x+4)

5.} {4 pts) Determine the vertical asymptote(s} of g (x)

Result: X = ’”L{’

6.} (4 pts) Simplify — ox - 3x = ?}w B 5 X
x°—6x+8 x —x-12 —— T - ‘
O
k\xww\i%wﬂ (X 3)
B Sﬂ”}(mwk%“gx — 3%'"2“‘,%{3%
Q'%W‘“ﬁ(&%“’))ﬂj}{m} 3
k.
2 2] x
Values: _ L%~V s 24 “‘”;3::}
. S _—
7.} {4 pts) Simplify a+§+a—§ = ‘LO\+2\§ _;‘}e Q&‘alﬁéﬁng
aTe ar (a-5%a+3)

L A THtha 4 L a" _ Fp o

(o5 Ma+3)

T ou -a + 9
Result: {.,&««,5’3 (_ﬁ; «&9\3
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ES 2. 3§ ; : . .
a b2 P N Eﬁ : ,?.% J PRE Lo Lo ey 2o {%%{J

8.} {4 pts) Simplify 4

. a—b b—a G)ﬁ }j
- (Qz. +b)len - )
on ~ b
Result: &“%jg
X —x-12
9.} (4 pts) sampsiﬁ/% = (X - {T\E(\‘Xfé/‘s’); (ﬁkwf@»}ﬁ?{wﬁ\;

e ol TR b

oS (=530 Y (xvb '\@tﬁ“ 2

(X= D (<=7

Result: ‘ LN ?B { et )

2 belee oat. B e
10.) (4 pts) Simplify LE3_ 51 | e 2
r .3 . | |
2r+6 r VO & Iy g k ST 4 ﬁ(\-{\‘}v %B

L™ % Qe 4 24

e s

S + B0p & Ao

WS L yp e 1)

5LrT br -ﬂ%‘)“/

Result:

o
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11}(5pts}501ve—£—-' 36
o -6 t*—6t

“ 3 L

o } T -,
TS

+-b W‘t(\‘{-’;»%}
. )
=) TV = 3&
= %ma 36 = O
= (E+olt-6N=0

kot

Solution:

12.}) (5 pts) Solve + =
x+1 X X +x

=5 i{x’?ﬂ«% (fj %ﬁﬁy‘}‘i%*f} =4

D% 4 Bx =0p
= Balx+) =6
= %@ oL, 3‘67*4

Solution: 3’””’1 o ﬁaﬁw"@‘g.-é}f”’}
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